

#47-13-6, 2nd floor, Ratnasri Complex, Dwaraka Nagar, Visakhapatnam A.P india 530016 Tel 0891-6444666

TAX INVOICE Subject to Andhra Pradesh Jurisdiction

Buyer:

Viswanadha Educational Society,

VITAM Engineering College,

Mindivanipalem(V), Sontyam Panchayat,

Anandapuram(M),

Visakhapatnam-531173

Andhra Pradesh.

RLE/SLT/143/2019-20

Invoice no.

Consignee:
Viswanadha Educational Society,
VITAM Engineering College,
Mindivanipalem(V), Sontyam Panchayat,
Anandapuram(M),
Visakhapatnam-531173
Andhra Pradesh.

Invoic	e Date	15 APR 2019			
REF		By PO Confirmation			
S.no.		Part no. & Description	Qty	Unit Price In INR	Total Price In INR
1	Solar PV Connect	Solar Grid-Tie Plant ing of Modules, Solar Assembly, Inverter, tors, Cables, Junction boxes, Lommissioning & Synchronization	1	48,57,142.86	48,57,142.86
				Grand Total	48,57,142.86
				CGST @2.5%	1,21,428.57
				SGST@ 2.5%	1,21,428.57
				Invoice Value	51,00,000.00

Approximate material value in words: Fifty One Lakhs Rupees only. Note: The above price is inclusive of Central Financial Assistance (CFA)

Terms & Conditions
Delivery on Door Delivery basis
Packing and Forwarding Inclusive
Payment against delivery of material

PAN no.	AAGCR3885D
GSTIN no.	37AAGCR3885D125

Rockland Industries Pvt. ltd.

Authorized Signatory

I/We hereby certify that my/our registration certificate under the GST ACT 2017 is in force on the date on which the goods specified in the Tax Invoice is made by me/us and that the transaction of sale covered by this tax invoice has been effected by me/us and it shall be accounted for in the turnover of sales while filling of return and due tax, if any payable on the sale has been paid or shall be paid.

Tax Invoice Copy of Solar Power Plant

Pour lui

Principal
Principal
Viswanadha Inst. of
Pharmaceutical Sciences
Visakhapatnam - 531 173

15/10/19



From

Executive Engineer, Operation/ Zone-III, A.P.E.P.D.C.Ltd., Visakhapatnam. To

M/s. Viswanadha Educational Society, HTVSP-600, Mindivanipalem village, Sontyam Grampanchyat, Anandapuram (M), Visakhapatnam.

Lr.No. EE/O/Zone-3/VSP/AE/Coml./F,Doc/D.No.4310/19, Dt. 15/10/2019.

Sir,

Sub:- EPDCL - OD - Zonc-3 - VSP - Installing of 11 KV Solar Net metering (Solar grid interactive roof Top and SPV Power plant) @ load 100KWp with shade free area available for installation of solar panel in respect of 11 KV HT SC No. VSP-600, CMD 100KVA in favour M/s. VISWANADHA EDUCATIONAL SOCIETY, Mindivanipalem, Sotyam Gram Panchayat, Anandapuram mandal in Anandapuram section under HT Cat-II at 11KV potential - HT Solar Agreement Accepted - Reg.

Ref:- Lr.No. SE/O/VSP/DE/Tech/ADE/C/AE/C1/D.No.202208/19, Dt. 31.12/2018.

With reference to the above, the HT Agreement entered on 15.10.2019 for installing of 11 KV Solar Net metering (Solar grid interactive roof Top and SPV Power plant) @ load 100KWp with shade free area available for installation of solar panel in respect of 11 KV HT SC No. VSP-600, CMD 100KVA in favour M/s. VISWANADHA EDUCATIONAL SOCIETY, Mindivanipalem, Sotyam Gram Panchayat, Anandapuram mandal in Anandapuram section under HT Cat-II at 11KV potential of Pendurthy sub-division is hereby accepted.

Encl:- Copy of HT Agreement.

Yours faithfully,

Executive Engineer, Operation/Zone-3/VSP

Copy submitted to Superintending Engineer/ Operation/ Visakhapatnam.

Copy communicated to Senior Accounts Officer/Operation Circle/Visakhapatnam.

Copy to Deputy Executive Engineer/ Operation/ Pendurthy.

P.Vin eni

Installation Copy from A.P.E.P.D.C.Ltd

Principal
Viswanadha Inst. of
Pharmaceutical Sciences
Visakhapatnam - 531 173

GLOBAL ENTERPRISES

TAX INVOICE

TIN: 37707740734

DATE

June 30, 2017

DUE June 30, 2017 INVOICE NO

001A269

COMPUTER INFO CUSTOMER INFO

> Viswanadha Institute of Technology and Management

MAKE

DELL

MODEL #

OPTIPLEX 790

ADDRESS Mindivanipalem, Anandapuram,

Visakhapatnam, Andhra Pradesh 531173

OTHER

Moniter / Keyboard / Mouse

DELL Optiplex 790 C.P.U 4GB DDR3 RAM 500GB H.D.D 17 inch Dell Moniter Keyboard / Mouse	
17 inch Dell Moniter	
Keyboard / Mouse	

PART#	Discription	QTY	UNIT PRICE	AMOUNT	
1	Refurbished Dell optiplex 790 C.P.U / Moniter / Keyboard / Moniter	25	13,000.00	325,000.00	
			The Comment	(32)	
	A STATE OF THE STA		And the state of		
A		454			
		JACKS.			

MMENTS

online or by cheque

SUBTOTAL

TOTAL:

325,000.00

325,000.00

TOTAL PARTS SALES TAX

5%

16,250.00

TOTAL

341,250.00

Thank you for your business!

Please include the invoice number as reference when paying

Computer generated bill no sign Required **GLOBAL ENTERPRISES**

Should you have any enquiries concerning this invoice, please contact Sri Ram Chowdary on 89777-15232

G L PURAM, VIZIANAGARAM, INDIA, ANDHARA PRADESH, 5

Visakha Auto Solution's

Invoice

Passion, Performance, & Speed

June 30, 2017

DATE June 30, 2017 DUE

Invoice NO

1A34

COMPUTERINFO

NAME Viswanadha Institute of Technology and Management

MAKE

DELL

MODEL #

OPTIPLEX 790

ADDRESS

CUSTOMER INFO

Mindivanipalem, Anandapuram,

Visakhapatnam, Andhra Pradesh 531173

OTHER

AMOUNT 13,000.00

DELL Optiplex 790 C.P.U 4GB DDR3 RAM

500GB H.D.D

JOB PERFORMED

17 inch Dell Moniter

Keyboard / Mouse

SUBTOTAL

13,000.00 0

SALES TAX RATE

5.00

PART#	Discription			QTY	UNIT PRICE	AMOUNT
1	Refurbished	Dell optiplex 790	C.P.U / Moniter / Keyboard / Moniter	75	13,000.00	975,000.00
2.2			* # 8 - 2 1 3 Table 1			
77	and the same					
T.H."				Taxable .		
gd .	file a fine	14.5				
		San Francis				Track Track LV
	*** : : : : : : : : : : : : : : : : : :			The second	44.45	
HAY'V COLOR	F12 / 1244			9 51 314	Constitution	

Please include the invoice number as reference when paying

online or by che

Thank you for your business!

SALES TAX RATE

TOTAL:

TOTAL PARTS

975,000.00

SALES TAX

a9,400.00 48

TOTAL

0 (1,024,400.00)

Make all checks payable to Visakha Auto Solution's

Computer generated invoice no signe stamp required

Should you have any enquiries concerning this invoice, please contact Sri Ram Chowdary on 89777-15232

Opp-5th Town Police Station, Industrial Estate, Visakhapatnam, INDIA, ANDHARA PRADESH, 530007 Tel: 89777-15232 Fax: 0-000-0000-0000 E-mail: chowdary273073@gmail.com

Principal anadha Inst. of Marmaceutical Sciences Visakhapatnam - 531 173

TAXIN	OICE				Owied	
CS BAS AS A POTT OR CLASSIC		RCSG Deliver	123-241	944	22-Dec-203	18
WISAKHAPATHAM SOCIETY OF THE PERSON OF THE P			r's Ref		Other Refer	ercords)
E-Man sufcanionipote stroppe Reprod com			Order		Dated	
Buyer Viswanadha Institute of Pharmaceutical Sciences		Овара	ich Doc	ument No	Delivery No	te trate
Mindivenripalem(V) Sontyaer Panchayat Arandapuram(M)		Cospa	nermet st	nrough	Destruction	
VISAKHAPATNAM-531173 5440995977		1				
State Name Andhra Pradesh, Code 37		WSAC	GST I	Quantity	Rate pe	Amount
Description of Goods			Rate		23,728 81 NO	5 23,728.81
CANON SCANNER DR-C230	BA7	16040	18 %	1,000		
Output Tax Cgst 9' Output Tax Sgst 9' Rounded O	20				33	
	otal			110	OS	₹ 28,000.00
nount Chargeable (in words) IR Twenty Eight Thousand Only					Gran	e fax Total
A	1	exable Value 3,728 8	Rat	7/0 2,13	nt Rate 5.59 9%	Amount Tax Amount 2,135 59 4 271 1
Tota x Amount (in words) INR Four Thousand Two Hundred		3,728.8 intv Oi		2,13 Eighteer		2,135.55 4,271.1
Amount (in words) INR Four Thousand 1 Wo Hundred						
(2Courselts).	8	lank Na	y's Bar me	k Details STA	TE BANK OF	INDIA
Cpura 23/12/23	8	Ve No Branch	S IFS C	ode DWA	0600776 RAKANAGAI	R & SBIN0003060 HAN COMPUTER SHOP
						121+X
declare that this invoice shows the actual price of the good acribed and that all particulars are true and correct SUBJECT TO VISAK				100 may 200 M		

P. Unodur

Principal
Viswanadha Inst. of
Pharmaceutical Sciences
Visakhapatham - 521 173

(ORIGINAL FOR RECIPIENT) Tax Invoice SOUTHERN SWITCHGEARS (2023-24) B-119. Survatasgh
Markathagya Lakahiru Chambers.
Ward 27. Visakhapatnam 530020
Phone 0851 - 2798282
Cell 9848310907
GSTIN/UIN 37ABOF SG/702N12H
State Name Andhra Pradesh. Code 37
E-Mail: southrenswitchgears@gmail.com
Euyer (Bill 10)
VISWANADHA INSTITUTE OF PHARMACEUTICAL SCIENCES
Mindiwarupalem(V). Sontyam [P]. Anandapuram [M].
VISAKHAPATNAM
State Name Andhra Pradesh. Code 37 2616 Deivery Note 18-Dec-23 Reference too & Date Other References Dated Buyer's Order No. Dispatch Doc No Delivery Note Date Dispatched through Destination Andhra Pradesh, Code: 37 K Satyanurayana 7382557945 Terms of Delivery Description of Goods HSN/SAC Rate CG MAKE EXHAUST FAN DRIFT AIR PLUS 300MM 841451 18 % 1,350.00 Nos 9,450.00 CGST@ 9 % SGST @ 9 % 850.50 850.50 7 Nos 11,151.00 ₹ Amount Chargeable (in words) Eleven Thousand One Hundred Fifty One INR Only State Tax HSN/SAC Central Tax | Central Tax | State | Amount | Rate | 9% | 850.50 | 9% | | Amount Tax Amount 850 50 1 701 00 850 50 1,701 00 Value 9.450.00 9,450.00 841451 Total One Thousand Seven Hundred One INR Only
Company's Bank Details
A/c Holder's Name
Bank Name
A/c No
A/c No
A/c No
A/c No
A/c No
Branch & IFS Code
SWIFT Code

One Thousand Seven Hundred One INR Only
Company's Bank Details
A/c Holder's Name
SOUTHERN SWITCHGEARS
KOTAK MAHINDRA BANK OD - ...675
A/12764875
Branch & IFS Code
SWIFT Code Company's PAN Declaration

1 Payment must be made within 30 days otherwise Interst @21

% PA will be charged extra on overdue paym int 2. Sellers
Laibility with delivery to Carriers godwon or at workshop. for Mis. SOUTHERN SWITCHGEARS (2023-24) This is a Computer Generated Invoice

Dr. P.UMADEVI Principal

Viswanadha Inst. of marmaceutical Sciences Visakhapatnam - 531 173

AFRPK3850Q1ZK INI Kanna Commercial Complex, D.N	DIA	N)	MA	RK	W.T	TN/	92466 12966 98481 29829 0891-2866829
Phormacous Source Usuf	Postitura e	GA INV	VOICE I	REDIT	Lang		3 2 2
STIN (Stedux)		Mary and Proposition of	er No			Date_	
PARTICULARS	HSN Oty	Rate Per Siq. Mit	Taxable Value	CGST % Amo	unt %	SGST Amount	Amount Ra. Pa
APPROVEDED			rs,6v3	911	Tras U	(,333°c)	
						SG	THE RESERVE THE PARTY OF THE PA
pees in words STAN	emy Tha	wad	Ch	a hug			ST
aud	aw R	when	er ou	4		Grand To	16,100
s : 1. 28% p.a. interest will be o not paid on due dates. 2. Goods once sold will not b 3. Our responsibility ceases goods leave our premises	e taken back once the	A	Se) (12)33			AN MARKETING Authorised Signatory
Distributors for : FLUSH DOORS				s; MDF,			lywoods,

P. Oue du

Principal
Viswanadha Inst. of
Pharmaceutical Science
Visakhapatham - 531 1/0

Party instrumental Complex, D. Party instrumental Complex Details Pharma Commercial Complex Commercial Commercial Commercial Complex	Postion	Groun od	as Inv	Sth Lane, ASH/C VOICE pice Date	REI NO.	irakanagar,	VISA	TA)	AM-830018. CINVOICE
GSTIN:				er No.				Date -	
No PARTICULARS	HSN Code	Qty	SCHIR FORESS	Taxable Value	196	CGST	% I	SGST Amount	Arricard Fig.
James Boards 12m - 2m 192		02		1,617 3,214 4,831		147-53 1925-94 3381-37	y.	(45-33 (42-34 338-37	3,214
773	114						-	CGS	
	-/-						F	SGS	3371
es in words from t	THE RESERVE OF THE PARTY OF THE	SIGNAMINE STATE OF THE	IZHTER/MUNIHUMZ-19940		-	STATE OF THE PERSON NAMED IN		IGS	7 -
	Sign	+ +	Laylo	es c	244	7		Grand 16	al 5,588
28% p.a. Interest will be channot paid on due dates. Goods once sold will not be Our responsibility ceases on goods leave our premises.	taken back	bills					For	INDIA	N MARKET

Principal
Viswanadha Inst. of
Pharmaceutical Sciences
visakhapatnam - 531 173

44839970

CREDIT / CASH BILL

Cell: 9848680154 8555003525

STE SAI TEJA ENTERPRISES

OFFICE STATIONERY

#9-9-71/1, Near Kalabharathi, Mangapuram Colony, Visakhapatnam-530 017

No. 349

Date 23/12/23

WS VISLOAN ADA SANST	THE RESERVE OF THE PARTY OF THE	Rate	Rs. Ps.
Ay -do - B) Ay -do - Challe Piece (Dy) B) Challe Piece (Dy) B) Cobbig office B) Cobbig office B) Cobbig office Challe Piece (Dy) Challe Piece (Dy) Challes P	Herry Koner Scartor Weaker Scartor Holey Scartor Hope Song Short Short Hole Song Short Hope Short H	81- 5:80 22001- 9501- 161- 2131- 2101- 1901- 101- 101- 101- 101- 101- 101-	1940200 2860200 2860200 600200 313200 190200 190200 190200 100200 350200 100200 350200 100200 350200 100200 350200
40 Gom Boothe Sn 10) Bousson taker	le nelle	THE RESIDENCE OF THE PARTY OF T	3600

Rupees in words

FOR THE LATERA

P. Oue dur

Principal
Viswanadha Inst. of :
Pharmacelytical Sciences
Visakhapatham - 531 173

	NEELAKUNDELA jn, Ananda 32		Date 2	1/2/23	
Name					
No	PARTICULARS	Qty.	Rate	Amount Rs. Pi	
15	wie set-pary	e T	3400	3400	
1	ss long andy Tops		380	1140	
0	Angle value	2	J00	600	
1	32 km waldpope	10	90	900	
0	pue contry page	12	57	100	
60	polles cocle	1 1	550	0.55	
00	Heathquit set	***	320	320	
0	som Godopsta	6	15	90	
8	110 mm Jalls	6	50	350	
(E)	1/2 slow scowy	20	15	30	
0	pre puly ply	1.	40	40	
60	ROCK Bult sels	2-	70	IYO	
(2)	2in one taples	1	650	650	
19	Spang Box	1	350	350	
			TOTAL	11951	1-

P. Vue dui

Principal
Principal
Viswanadha Inst. of
Pharmaceutical Sciences
Visakhapatham - 531 173

	SRI SAI SURYA NEELAKUNDELA jn, Anand			ISES C	1
No.				21/12/23	
Name	vistivaballie in	stule	1	namacay dice	1.
No.	PARTICULARS	Qty,	Rate	Amount Rs. Ps	
Φ	18 wall Bulls	1	240	240	
0	Yn Flore Bute pry	6	5	30	
3	Hay may clys	1p	150	150	
9	1/2 star som	724	1	24	
3	3/4 pre Bers	12	6	72	
	pie pry zhy	7	38	266	
3	42 we	40	42	1680	
9	12 sq wire	450	12.2	550	
9	50 mm Logs	q	70	280	
0		12	6		
0		20	68	72	
9	For Roads	25	98	1360	
N	for duy Huy	75	12.2	550	
	o ll-	6	10	60	
PHAN	DVED FOR BAYMENT				
1	A CONTRACTOR OF THE PARTY OF TH		TOTAL	6084	

Principal
Viswanadha Inst. of
Pharmaceutical Sciences
Viswahapatham - 531 173

PARTICULARS Oty, Rate Amount Rs. Ps. W A 18x16 1 780 780 Particulars 1 780 780 Particulars 1 120 600 Particulars 1 15 30 Particular 1 15 30 Particular 1 120 220 Particular 1 180 180 Particular Ps.	10. 33		Date	Hirles	
w 0 18×16 1 700 700 pvc Tays 5 120 600 open plants 20 15 30 open plants 1 220 220 pvc piller case 1 120 100 waste cupley 1 180 100	Vo.				Constitution lives and
		1 5 125	15 226	600 30 220	

P. Vono dui

Principal
Principal
Viswanadha Inst. of
Pharmaceutical Sciences
Visakhapatham - 531 173

No.			SHOW THE RESIDENCE AND ADDRESS.	2502/2017
Ni	PARTICULARS	Ow.	Rate	Amount Rs Ps
0	wall cutting and	1	100	100
0	4 most plus	1	120	120
0	GA SULS OM		28	112
866 AIG	pre paryal plus	1	40	40
0	Inon wells	1	15	15
9	3/4 pre p=ps	2.5	38	950
4	" LBers	12	6	72
	I/m mes clys	lpost	120	izo
900		Ċ	110	600
9	6 modle gay Box	10	16	160
		10	45	450
	SHOCKet Pursu		9	108
	3/4 Des Briss	06	9	54
	3/4/200 3,0	05	78	390
	16 A TOPS		TOTAL	promote the second second second

P. Vus dui

Or. P.UMADEVI
Principal
Viswanadha Inst. of
Pharmaceutical Sciences
Visakhapatnem - 531 173

and Audio Visuals		nvoic			CORIGINAL		THE PERSON	
Near Diamond Park. Owarakanagar		274	AND THE RESIDENCE OF THE PARTY		Dated			
Visakrisijukisam \$30016 Tei 0891 2748344 6681344 82406 49344			ry Note		29-Dec-2023 Mode/Terms of Payment			
OSTINIUN 37AAPPN8695R1Z6 State Name Andria Predesh Code 37 Buyer		Suppl	ier's Ref		Other Reference(s)			
VISWANATHA INSTITUTE OF PHARMACEUTICAL SCIE	NCES	Buyer	's Order	No	Dated Delivery Note Date			
VISAKHAPATNAM PAN/IT No State Name Andhra Pradesh Code 37		Despi	atch Doc	ument No				
State Name Andhra Pradesh. Code 37 Place of Supply Andhra Pradesh	Despatched through			Destination				
		Term	s of Dela	rery				
SI Description of Goods	HSN/S	SAC	GST	Quantity	Rate	per	Ámo	unt
60			Rate					
NBA 15 NECK BAND PA SYSTEM	8543		18 %	1 nos	2,542 37	nos	2,	542.37
CGST OUTPUT 9% SGST OUTPUT 9% ROUND OFF			***					228.81 228.81 0.01
Total ount Chargeable (in words)				1 no			1.	3,000.00 E & O E
R Three Thousand Only	Taxab	la I	Col	ntral Tax	- 81	ate Ta		Total
	Value	e	Rate 9%	Amount 228 8	Rate	Am	ount 228.81	Tax Amount 457.62
Total:	2,54 2,54	Market Market Company	970	228.1	plant for the second or second of the	The State of the S	228.81	457.62
Amount (in words) INR Four Hundred Fifty S	even	and	Sixty T	wo paise	Only			
appeny's PAN AAPPN8695R	the state of the s	Bar	k Name		KOTAK M 75501100	5045 nagar	& KKB	K0007707
eclare that this invoice shows the actual price of s described and that all particulars are true and ict						for	Prasa	Audio Visua
PRODUCT'S WARRANTY FROM RESPECTI ICE CENTRE ONLY SUBJECT TO VIS.		DAT	VAM II	PISDICTIO	NN.		Au	pylised signa
ALIGHED TO VIS	MAHAM	CAL	ALBERT ALC		AND DESCRIPTION OF THE PARTY OF			

P. Vue du

Principal
Viswanadha Inst. of
Pharmaceutical Sciences
Visakhapathem - 531 173

sad Audio Visuals		Invoice	e No		Dated	FOR RECIPIL	
Hear Diamond Park Owarakanagar		274			29-Dec-		
Vinakhapatnam-530016 For 0891 2748344,6661344 92466 48344		Delivi	ery Note		Mode/Te	nt	
STINUIN 37AAPPNBBSSR126 State Name Andhra Pradesh Gode 37 Buyer VISWANATHA INSTITUTE OF PHARMACFUTICAL SCIE		Supp	opplier's Ref		Other Re		
		Buyer's Order No			Dated		
PANIT NO		Despatch Document No.			Delivery	-43	
State Name Andhra Pradesh, Code 37 Place of Supply Andhra Pradesh		Despatched through			Destina		
		Term	Terms of Delivery				
SI Description of Goods	HSN	SAC	GST Rate	Quantity	Rate	per An	nount
1 NBA 15 NECK BAND PA SYSTEM	8543		18 %	1 nos	2.542 37	nas	2,542.37
CGST OUTPUT 9							228.81
SGST OUTPUT 99 ROUND OF	6						228.81
						1	
Total	al			1 nos			₹ 3,000.00 E & O E
ount Chargeable (in words) R Three Thousand Only							
	Taxat			ntral Tax	THE RESIDENCE OF THE PERSON.	ate Tax	Total
Salara and a salar salar salar salar	Valu	e 2 37	Rate 9%	Amount 228.8	Rate 1 9%	Amount 228.8	Tax Amoun 457 6
Total:		2.37		228.8	Michigan Co.	228.8	Section 2 in contrast of the last of the l
Amount (in words) INR Four Hundred Fifty	Seven	and	Sixty T	wo paise	Only		
npany's PAN AAPPN8695R		Bar	mpany's nk Name No.		KOTAK M 75501100	AHINDRA 5045	
aration eclare that this invoice shows the actual price of sidescribed and that all particualrs are true and	f the			S Code : I	Dwaraka	for Pras	BK0007707
PRODUCTS WARRANTY FROM RESPECT		1				A	undersed sign
CICE CENTRE ONLY SUBJECT TO VI	SAKHA	PATI	NAM JU	RISDICTIO	N		117
				Invoice			

P. Une dui

Principal
Viswanadha Inst. of
Pharmaceutical Sciences
Visakhapatnam - 531 173

No. 350	anadkar dayttile of			18610=10 18610=10	
SI. No.	PARTICULARS	Qty.	Rate	Rs. 1864 PSD	
20) 54	to take an (64%) des chip (paper Holdy) by the Pens theor mp had small show for	2 feity 1 flet- 4 Alo 1 No.	1801- USI- 24- 501- 361- 241-	360-00 25200 25200 26200 -72-00	
	APPROVED FOR PAYMENT			1	
		•	TOTAL	193782	00

J. Our du

Principal
Principal
Viswanadha Inst. of
Pharmaceutical Science:
Visakhapatham - 531 17 s

Tax Invoice (ORIGINAL FOR RECIPIENT) asad Audio Visuals

ear Diarrogrid Park
was skohagar
sakrapataren 520016

10891 2748344 6661344
4904 8344
STINJUN 17AAPPNBBISR1Z6
ate Name Andhra Pradesh Code 37 Invoice No Dated 273 Delivery Note 29-Dec-2023 Mode/Terms of Payment Supplier's Ref Other Reference(s) Buyer's Order No. VISWANATHA INSTITUTE OF PHARMACEUTICAL SCIENCES Dated Despatch Document No. Delivery Note Date State Name Andhra Pradesh Code 37 Andhra Pradesh Despatched through Destination Terms of Delivery Description of Goods HSN/SAC OST Quantity Rate Amount tio 1 AHUJA PORTABLE AMP WP220 8518 18 % 6,355 93 nos 6,355.93 CGST OUTPUT 9% 572.03 SGST OUTPUT 9% ROUND OFF 572.03 0.01 1 nos ₹ 7,500.00 Amount Chargeable (in words) ESOE INR Seven Thousand Five Hundred Only axable Centr Value Rate 6,355.93 9% Total: 6,355.93 Tax Amount (in words) INR One Thousand One Hundred Forty Four and Six paise Only Company's Bank Details
Bank Name KOTAK MAHINDRA BANK
A/C No. 755011005045 Company's PAN AAPPN8695R Declaration
we declare that this invoice shows the actual price of the
goods described and that all particulars are true and Branch & IFS Code Dwarakanagar & KKBK0007707 for Prasad Audio Visuals PRODUCT'S WARRANTY FROM RESPECTIVE SERVICE CENTRE ONLY ed Signatory SUBJECT TO VISAKHAPATNAM JURISDICTION PRASAD AUDIO VISUALS Generated Invoice AIC M 62204972349
SBI, IFSC : SBIN0012838

P. Vuedur

Dr. P.UMADEVI

Principal Viswanadha Inst. W Pharmaceutical Scient Visakhanathan - 531 1

	NEELAKUNDELA jn, Anand	apuram	jn, Visakh	apalnam.	
No.			Date C	sfor /021	1
Name 5 No.	PARTICULARS	Oty.	V.SP -	Amoun	
16				Rs.	Pa z
(B)	The man you.	6	58	148	
(10)	75 90 Berty	2	60	120	
(10)	110 to 95 ma Day	AND DESCRIPTION OF THE PERSON NAMED IN	95	220	
0	tion ml scopre			60	
	P. Holly	3	20		
20	core bake and	7	242	5019	
0	3/4 L' Bely	12	16	192	
(2)	34 7	6	22	132	
2	1 Start ple	4	82	328	
(E.8)	3/4 RNS L	6	72	432	
当	conduld cocon	2_	780	1560	
287	1/2 cove lay ony	10	5	50	
181	3/4 cpu sout	ב	15	45	
		12	15	180	
A -	1/2 cp plats paller codes		580	580	1
21 =	passer cours		TOTAL	24587	HT

P. Uma dur

Principal
Principal
Viswanadha Inst. o:
Pharmaceutical Scient
Visakhapatham - 531 1/0

SRI SAI SURYA NEELAKUNDELA Jn. Anan	ENT	ERPR		479
Name VALLES L'Endive		Date:	of or lay	
S.No. PARTICULARS	Qty.	Rate	Amount	
31 118 ml an	2	165	730	
32 les due engle	15	175	2425	
(3) Four carpacks	25	2.5	625	
10 wall emp	3	340	1020	
12 Red	1	1080	2160	
12 molle pul		210	210	
1 8 mode place	1	185	185	
6 mable ple	2	160	320	
I to with plat	1	120	120	
GA suitelis	72	17	544	
6 A SHOCKET	2	75	120	
graphon = /n	1	21	21	
DOST du	1	72	72	
1 PLads	2	16	100	
p mps		180	180	
39 600		IUTAL	33281	
CO 2 CO 3-5-5-	1		Signature	
	WE	61/24	21,7	

P. Umedui

Principal
Principal
Viswanadha Inst. of
Pharmaceutical Science
Visakhapamam - 531 1/y

	SRI SAI SURYA	ENTI	ERPRI	SES (
	40		Date 0	5. Por 124
Name	VISASANADHA TANTUNE O	F. PHA	RAMACAL	TICAL SCIENCE
	PARTICULARS	Qty.	Rate	Amount V 30.
0	EW/c	2_	3580	7160
0	CT pan	1	520	520
3	C T Pa- W'HO 22X16		820	850
0	Angle cocles	4	320	1280
(3)	pre Gonley tube	4	50	200
0	SS Taps	4	420	1680 420
0	waste p=pe	ì	90	30
01	vasle cuppling	1	130	130
0	110 mm T Door	1	185	390
0	110 DOOR L	1	105	105
DI	10 L Benk	3	82	246
10	no man pare	2	470	940
a)	10 mm cens	6	20	120
a)-	75 mm pay	1	260	780
	75 MM Y	1	125	375
1			TOTAL	14846 70

P. Umalin

Principal
Principal
Viewenedha Inst. of
Pharmacoutical Sciences
Viewinepament - 531-173